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[BFN303] Which of the following is not a capital structure theory?
Gordon Theory

[BFN303] Assumming  an ordinary share of 1million and a proposed dividend of 
25kobo per share. What will be payable as divided in a profit after tax of N1.5million?
N250,000

[BFN303] All the following determine capital structure of a bank except;
Dividend Policy

[BFN303] Which of the following is not a major reason for establishing Multinational 
Companies in Nigeria
Job creation

[BFN303] Risk management process involves all but one of the following
Termination

[BFN303] Risk can be dealth with all the following except;
Competition

[BFN303] Which of the following is not a modern method of business valuation
Accounting Rate of Return

[BFN303] Commercial and merchant banks in Nigeria operate under the framework of --
-
BOFIA

[BFN303] All the following are factors of production except;
Labour

[BFN303] Which of the following capital structure is not common in Nigeria?
Debenture Only
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